
Geometry 1 

Next Previous 

Describe the following single 
transformations 

(a) (b) 

Flip 



Geometry 2 

Next Previous 

Area of a 
circle 

Area of a 
sector 

r r 
𝜗 

(a) (b) 
Flip 



Geometry 3 

Next Previous 

How do you find the centre of 
enlargement? 

What does scale factor -½ 
mean?  

(a) 

(b) 

Flip 



Geometry 4 

Next Previous 

How do you find the volume of 
a prism? 

cylinder 

Flip 



Geometry 5 

Next Previous 

Circumference 
of a circle 

Length of 
arc 

r r 
𝜗 

𝑙 

(a) (b) 
Flip 



Geometry 6 

Next Previous 

Which circle theorems would 
you use: 

(a) (b) (c) 

? 

? 
? 

Flip 



Geometry 7 

Next Previous 

How do you construct a 
perpendicular bisector of 
a line?  

Flip 



Geometry 8 

Next Previous 

How do you bisect an 
angle?  

Flip 



Geometry 9 

Next Previous 

How do you calculate 
exterior angles? 

How do you calculate 
interior angles? 

(a) 

(b) 

Flip 



Geometry 10 

Next Previous 

What do you call these 
pairs of equal angles? 

Flip 

(a) (b) 

(c) 

http://www.google.co.uk/imgres?imgurl=http://www.bbc.co.uk/schools/ks3bitesize/maths/images/alternate.gif&imgrefurl=http://www.bbc.co.uk/schools/ks3bitesize/maths/shape_space/parallels/revise2.shtml&usg=__zJAmjrgZQ8iNextsKIITrQsCjPE=&h=241&w=516&sz=4&hl=en&start=19&zoom=1&um=1&itbs=1&tbnid=r_acZESI4AmWEM:&tbnh=61&tbnw=131&prev=/images?q=ALTERNATE+ANGLES&um=1&hl=en&sout=1&rlz=1I7ADSA_en&tbm=isch&ei=HrbKTa3XCtHB8QOn78XbCA


Geometry 11 

Next Previous 

Name the following 
shapes 

Flip 



Geometry 12 

Next Previous 

Which circle theorems would 
you use: 

(a) (b) 
(c) 

? ? 

? 

Flip 



Geometry 13 

Next Previous 

Which rules would you use 
to solve the following: 

6 

10 
? 

7 

11 

? 

? 
150 

70o 

(a) (b) (c) 

60o 

Flip 



Geometry 14 

Next Previous 

Find the missing length: 

Flip 



Geometry 15 

Next Previous 

How would you find angle x? 

15cm 
10cm 

x 

Flip 



Geometry 16 

Next Previous 

Pythagoras’ theorem says…. 
 

Flip 



Geometry 17 

Next Previous 

What is order of rotational 
symmetry? 

Flip 



Geometry 18 

Next Previous 

How do you calculate surface 
area? 

Flip 

6cm 

4cm 



Geometry 19 

Next Previous 

How are bearings measured? 
 
(3 key points) 

Flip 



Geometry 20 

Next Previous 

How would you calculate XY? 

How would you calculate XZ? 

Flip 



Geometry 21 

Next Previous 

Which circle theorems would 
you use: 

(b) 

𝐵𝐶 𝐷=? 

(a) 

? 

? 

Flip 



Geometry 22 

Next Previous 

What are the 5 ways to 
identify congruent 
triangles?  Pictures give hints, and are not 

congruent to each other! 

Flip 



Geometry 23 

Next Previous 

Prove triangles ABE and CDE 
Are Similar 
 
 
 
 
Which pairs of sides are in 
proportion? 

A 

B 

C 

D 

E 3cm 

6cm 

Flip 



Geometry 24 

Next Previous 

How would you prove that 3 
points, A, B and C, lie on a 
straight line? 

Flip 



Geometry 25 

Next Previous 

The cosine rule: 
𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐𝐶𝑜𝑠𝐴 

How could you use to find 
angle A? 
 

b 

A 

c 

a 

Flip 



Geometry 26 

Next Previous 

A shape is enlarged by scale 
factor 3.  
 
 
How will the following change: 
a) Lengths 
b) Surface area 
c) Volume 

Flip 



CREATE YOUR OWN 



Answer 1 

• Rotate  

• 90o clockwise 

• About point (1,1) 
 

• translate  

• 4 right, 1 down  

or 4
−1

 
 

a b 



Answer 2 

a) 𝜋𝑟2 
 
 

b) 
𝜗

360
× 𝜋𝑟2 



Answer 3 

a) Draw lines connecting the corners 
of the shape. They meet at the 
centre 
 
 

 
 

b) Shape reduces in size (half) 
Shape appears on other side of 
centre 



Answer 4 

Cross section area x length 



Answer 5 

a) 2𝜋𝑟  𝑜𝑟   𝜋𝑑 
 
 

b) 
ϑ

360
× 2𝜋𝑟   𝑜𝑟 

ϑ

360
× 𝜋𝑑 



Answer 6 

a) Angle at centre is double angle on 
circumference 
 

b) Angles in same segment are equal 
 

c) Angle at centre is double angle on 
circumference 



Answer 7 

1. Put compass point at one end of the line.  

2. Open compass to about 
2

3
 of the line length 

3. Draw arcs at top and bottom 

4. Repeat for other end. 

5. Join arc intersections  



Answer 8 

1. Put compass point at angle vertex (A) 
2. Draw arcs on line (B and C) 
3. Move compass to B 
4. Draw arc at D 
5. Repeat with compass at C 
6. Connect A to D 

A 

B 

C 

D 



Answer 9 

a) Exterior angles add to make 360o 
 360 ÷ 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑠𝑖𝑑𝑒𝑠 

 

b) Exterior + interior = 180o 

 180 − 𝑒𝑥𝑡𝑒𝑟𝑖𝑜𝑟 



Answer 10 

a) Corresponding (F) 
 

b) Alternate (Z) 
 

c) Vertically Opposite 



Answer 11 

a) Trapezium 
 

b) Parallelogram 
 

c) Rhombus 
 

d) Kite 



Answer 12 

a) Opposite angles in cyclic quadrilateral sum 
to 180o 

 

b) Angle at centre is double angle on 
circumference 
 

c) Alternate segment (tan-chord) theorem 



Answer 13 

a) Pythagoras 
 
 
 

b) SohCahToa (tan) 
 
 
 

c) Sine Rule 



Answer 14 

𝑐𝑜𝑠 40 =
12

𝒙
 

 
𝒙𝑐𝑜𝑠 40 = 12 

 

𝒙 =
12

cos 40
 



Answer 15 

𝑠𝑖𝑛 𝑥 =
10

15
 

 

𝒙 = sin−1(
10

15
) 

 
𝒙 = 42o 

15cm 
10cm 

x 



Answer 16 

𝑎2 + 𝑏2 = 𝑐2 

 
or 

 
𝑎2 = 𝑐2 − 𝑏2 
𝑏2 = 𝑐2 − 𝑎2 

a 

b c 

Longest 
side is c 



Answer 17 

If you rotate 360o, how many 
times it fits onto itself 

 

8 



Answer 18 

Calculate the area of all the faces and 
add them together 
 
 
Triangles: ½ base x height 
  ½ x 6 x 4 =  12 (front) 
    12 (back) 
 
Rectangles:  10 x 6 (bottom) 
   10 x 5 (side) 
   10 x 5 (side) 
 
Total =  12+12+60+50+50 
          = 184cm2   



Answer 19 

• From north 

 

• Clockwise 

 

• 3 figures (e.g. 035, 150)  



Answer 20 

a) (-2a+b) + (4a+3b) 

 

=-2a –b + 4a + 3b =   2a + 2b 

 

 

b) Ratio   xy:yz 
  2:3  

 2a+2b : 3a+3b  
 
YZ = 3a + 3b 
XZ = XY + YZ = 5a + 5b  



Answer 21 

a) Tangents from same point are 
same length 
 
Tangent meets radius at 90o 

 

b) Tangent meets radius at 90o 
 
angles in quadrialteral make 360o 
 
angle at centre double angle at 
circumference  



Answer 22 

SSS SAS 
RHS 

ASA AAS 

Not AAA (could be enlargement) 
or SSA (two possible variations) 



Answer 23 

𝐴𝐵 𝐸 = 𝐸𝐷 𝐶  (alternate angles) 
𝐵𝐴 𝐸 = 𝐸𝐶 𝐷  (alternate angles) 
𝐴𝐸 𝐵 = 𝐶𝐸 𝐷  (vertically opposite) 
 
Therefore they are similar 
 
Pairs: 
AB and CD 
AE and EC 
BE and ED 
 
(scale factor = 2) 
 
 



Answer 24 

Find vector 𝐴𝐵 

Find vector 𝐵𝐶 

 

If they are parallel (one is a multiple of the 
other), all points must be on a straight line 



Answer 25 

𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐𝐶𝑜𝑠𝐴 

 
𝑎2 − 𝑏2 − 𝑐2 = −2𝑏𝑐𝐶𝑜𝑠𝐴 

 
𝒂𝟐 − 𝒃𝟐 − 𝒄𝟐

−𝟐𝒃𝒄
= 𝐶𝑜𝑠𝐴 

 
or 
 

𝒃𝟐 + 𝒄𝟐 − 𝒂𝟐

𝟐𝒃𝒄
= 𝐶𝑜𝑠𝐴 

 



Answer 26 

Lengths : x 3 

 

Areas: x 3 x 3 

 

Volume: x3 x 3 x 3 

 



Answer 27 


